Laser experiment



Last week..

* Change the setup for the optical table:
* The height of the laser;

 The base and scale factor.
* Scan 1 area, 4 areas, 49 areas.

* Three new problem...
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1: the table is not flat
49 areas

®
[ ] [ ]
25 50 75 100 125 150 175 200 2 300 325 358 37&400 425 450 475 500 525 556 579 6 0 675 ‘0 779 800 825 850 8 0 925 950 975 100010 10$1075
l E; [ ]

w\

-?? i‘!f*y

* [ ]

‘ ( ]

(<, S0
% 25 50 75 100 125 150 175 ZW

® ®
30@p 325 350 375 400 425 450 475 500 525 550 .575 6



ig ° . *’ﬁﬁ . ® .:0 ‘ °

25 50 75 100 125 150 175 200 2

300 325 350 375 400 425 450 475 500 525 55%57%6
(]

é
e

-100



The pattern disappear
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For comparision

Before; 9-1
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The slope is so small.(The average of the
slope for each area)

slope for different measurement
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3: the saturated time become 07 49 areas

mean for different measurement
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Last week
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